Ta0muna
[lepBeHCTBO Y3a€HCKOM pailOHHOI TMMHA3UU IO THOHEPOOITY
cpenu 5-6 kiaccon

Manbpuuku
Ne YyacTHUKHN 2 3 4 5 6 OYKHU | MECTO
/1
1. 5 «A» 2:1 0:2 2 6
2 0
2. 5 «by» 2:0 2:0 1:2 7 4
2 2 1
3. 5 «B» 2:0 0:2 2:0 2:1 8 3
2 1 2 2
4, 6 «A» 2:0 2:0 2:0 2:0 2:0 10 1
2 2 2 2 2
5. 6 «b» 1:2 0:2 0:2 0:2 0:2 3 5
1 1 1 0 0
6. 6 «B» 2:0 2:1 1:2 2:0 9 2
2 2 1 2
JleBoukHn
No Y4yacTHUKH 1 2 3 4 5 6 OYKH | MECTO
i/t
1 5 «A» 2:0 2:0 0:2 1:2 0:2 5 4
2 5 «b» 1:2 0:2 0:2 0:2 1 6
3 5 «B» 0:2 0:2 3 5
4 6 «A» 2:0 8 2
5 6 «b» 2:1 6 3
6 6 «B» 2:0 10 1




